Year 10 Set 3

Term 3

Homework Booklet




Starting Six

What is 35% of £150

o /

[y / Write 150 as a product of prime factors \

N

J
N
N

J

/
\

Snf\re:g = 3V

Solve: Tx -6 = 5x + 2

A ACCESS MATHS |
~

Work out £3.24 x 17

/ (a) Write 0.102 as a fraction \ {

(b)  Simplify your answer

-
4

Factorize: 15 — 10m

Factorise: x* - 9x + 20




Question

Question

Is 4 a factor of 38?

Is 7 a factor of 177

Is 5 a factor of 10?

List all the factors of 11

List all the factors of 34

List all the factors of 24

Is 6 a factor of 227

Is 6 a factor of 14?

Is 2 a factor of 19?

List all the factors of 25

List all the factors of 36
What is the highest
common factor of 27 and
157

'«OCD"*-JO‘-U‘I-IE-UJI\J—\D

Is 1 a factor of 4?

What is the highest
common factor of 14 and
77

Is 7 a factor of 147

List all the factors of 20

List all the factors of 16

Is @ a factor of 227

Is 11 a factor of 26?7

What is the highest
common factor of 21 and
77

Day 1

Day 2

Question

Q | Question

List the first 4 multiples of
4

1 List the first 4 multiples of
2

List the first 4 multiples of
3

2 | List the first 4 multiples of
14

Is 50 a multiple of 8?

What is the lowest

common multiple of 2
and 8?

What is the lowest
common multiple of 6
and 77

List the first 4 multiples of
7

What is the lowest
common multiple of 4
and 57

List the first 4 multiples of
10

What is the lowest
common multiple of 3
and 57

List the first 4 multiples of

-

I YY)

List the first 4 multiples of
15

Is 45 a multiple of 9?

List the first 4 multiples of
5
What is the lowest

common multiple of 6
and 87

Is 49 a multiple of 6?

List the first 4 multiples of
6

What is the lowest

common multiple of 4
and 77

What is the lowest
common multiple of 7
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Starting Six
What is 35% of £190 \

A \ j
/ Write 120 as a product of prime factors \

Solve: 8x -6 = 3x + 4

_N ACCESS MATHS

-

-

Work out £2.34x7

~

/

-

-

a) Write 0.53 as a fraction

(b) Write % as a mixed number

N

/

>

Factorise: 16 — 12m

Factorise: x* - 4x - 12

S




Day 2

Question

Question

(-7)+7

(-9 +4

8-10

Difference between -10
and -5

Which is the lowest

number, 3 or -9?

-1 +6

Difference between -10
and -8

Difference between -10
and 5

Difference between -2
and -1

Which is the lowest
number, 7 or -7?

(-3)+7

(-8)- 10
Which is the lowest
number, 4 or -8?

Difference between -8
and -5
Difference between -3
and -1

Difference between -9
and 4

Which is the lowest
number, -5 or -17?

Difference between -2
and -1

(-4) + 3

Which is the lowest
number, 10 or -4?




